
MATHS

BOOKS - PRADEEP PUBLICATION

INVERSE TRIGONOMETRIC FUNCTIONS

Example

1. Prove that 

Watch Video Solution

sin− 1( − ) = − ( )
√3

2

π

3

2. Prove that 

Watch Video Solution

cos − 1(cos( ) =
5π

3

π

3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KxtSRSlHa4db
https://dl.doubtnut.com/l/_xjRgRbPhMf31
https://dl.doubtnut.com/l/_gYLHTDwSiy0q


3. Prove that 

Watch Video Solution

cos − 1( ) = x − ( ), ( ) ≤ x ≤ ( )
sin x + cos x

√2

π

4

π

4

5π

4

4. Evaluate : 

Watch Video Solution

sin(2 sin− 1( ))
3

5

5. Evaluate : 

Watch Video Solution

sin(2 sin− 1( − ( )))
4
5

6. Evaluate : 

Watch Video Solution

sin(2 cos − 1( − ( )))
3

5

https://dl.doubtnut.com/l/_gYLHTDwSiy0q
https://dl.doubtnut.com/l/_bs9wLrumYqKC
https://dl.doubtnut.com/l/_N82Rqm9jynV5
https://dl.doubtnut.com/l/_lwMvYxZQiyQO


7. Evaluate : 

Watch Video Solution

sin(3 sin− 1( ))
2

5

8. Evaluate : 

Watch Video Solution

cos(2 cos − 1( ))
2

5

9. Evaluate : 

Watch Video Solution

cos(sin− 1( ) + cos − 1( ))
1

4

3

4

https://dl.doubtnut.com/l/_lwMvYxZQiyQO
https://dl.doubtnut.com/l/_62j2mz8fh9Tg
https://dl.doubtnut.com/l/_mqNFyAAymZ2e
https://dl.doubtnut.com/l/_u18c50pf7WL5


10. Prove that : 

Watch Video Solution

2 sin− 1 x = sin− 1(2x√1 − x2), |x| ≤ (
1

√2

11. Prove that : 

Watch Video Solution

cos − 1(cos2 x − sin2 x) = 2x

12.  is valid for all value of x satisfying:

Watch Video Solution

2 cos − 1 x = sin− 1(2x√1 − x2)

13. Prove that: 

Watch Video Solution

cos(cos − 1 x) = cos ec(cos ec− 1x).

https://dl.doubtnut.com/l/_B6UiZZpfsNvr
https://dl.doubtnut.com/l/_kFFEs2QhiTp4
https://dl.doubtnut.com/l/_pimT7DlcpHgU
https://dl.doubtnut.com/l/_RLlXY2fGVYKM


14. Prove that : 

Watch Video Solution

2 sin− 1 x = sin− 1(2x√1 − x2), |x| ≤ (
1

√2

15. Prove that : 

Watch Video Solution

2 sin− 1 x = sin− 1(2x√1 − x2), |x| ≤ (
1

√2

16. Find the value of 

Watch Video Solution

sin− 1(cos(sin− 1 x)) + cos − 1(sin(cos − 1 x))

17. Simplify : .

Watch Video Solution

sin− 1(x√1 − x + √x√1 − x2, 0 ≤ x ≤ 1

https://dl.doubtnut.com/l/_R6lKmdgQ9RWj
https://dl.doubtnut.com/l/_oe7ITMMTvQHc
https://dl.doubtnut.com/l/_sXVHMS6ryRxv
https://dl.doubtnut.com/l/_GJDxDZokSiNJ


18. Simplify 

Watch Video Solution

cos − 1( cos x + sin x), x ∈ ( − , )
3

5

4

5

2π

3

π

4

19. Solve : 

Watch Video Solution

sin− 1( ) + sin− 1( ) =
5

x

12

x

π

2

20. Prove that : 

Watch Video Solution

sin− 1 x + sin− 1 2x =
π

3

21. Prove that : 

Watch Video Solution

sin− 1( ) + sin− 1( ) = cos − 1( )
4

5

5

13

16

25

https://dl.doubtnut.com/l/_R6SUGTHpTEGO
https://dl.doubtnut.com/l/_d8Gb0pJOIBk7
https://dl.doubtnut.com/l/_pqKTNeV6O8nx
https://dl.doubtnut.com/l/_vT1kbPiIAz1G
https://dl.doubtnut.com/l/_s1sQbuZsas9w


22. Solve the following equations: 

Watch Video Solution

sin− 1(1 − x) − 2 sin− 1 x =
π

2

23. Solve the equation : 

Watch Video Solution

cos − 1( ) − cos − 1( ) = cos − 1( ) − cos − 1( ), |a| ≥ 1, |b| ≥ 1.
a

x

b

x

1

b

1

a

24. Prove that : 

Watch Video Solution

sin− 1( ) + sin− 1( ) = cos − 1( )
3

5

8

17

36

85

25. Prove that : 

sin− 1( ) − sin− 1( ) = cos − 1( )
3

5

8

17
84
85

https://dl.doubtnut.com/l/_s1sQbuZsas9w
https://dl.doubtnut.com/l/_2Fr0pdiKI81p
https://dl.doubtnut.com/l/_e29zgMBDldOv
https://dl.doubtnut.com/l/_7q7P7amxxAPL


Watch Video Solution

26. Prove that : 

Watch Video Solution

cos − 1( ) + sin− 1( ) = sin− 1( )
12

13

3

5

56

65

27. Prove that : 

Watch Video Solution

cos − 1( ) + cos − 1( ) = cos − 1( )
4
5

12

13

33

65

28. Show that 

Watch Video Solution

sin− 1( ) + sin− 1( ) + sin− 1( ) =
4
5

5

13

16

65

π

2

29. If

cos − 1 x + cos − 1 y + cos − 1 z = π  , prove that x2 + y2 + z2 + 2xyz = 1

https://dl.doubtnut.com/l/_7q7P7amxxAPL
https://dl.doubtnut.com/l/_NMWZxIhopKX9
https://dl.doubtnut.com/l/_hmY6BPpXrvMI
https://dl.doubtnut.com/l/_s1fIdnG7dKYM
https://dl.doubtnut.com/l/_0o7UcniIfuJf


.

Watch Video Solution

30. The greatest and least values of  are

respectively:

Watch Video Solution

(sin− 1 x)
2

+ (cos − 1 x)
2

31. Evaluate 

Watch Video Solution

tan− 1( − 1)

32. Find the principal value of 

Watch Video Solution

cot − 1( − )
1

√3

https://dl.doubtnut.com/l/_0o7UcniIfuJf
https://dl.doubtnut.com/l/_tulbnbeC9ztk
https://dl.doubtnut.com/l/_Wc5jLwR82ZNf
https://dl.doubtnut.com/l/_nr96VCckFO84


33. Evaluate 

Watch Video Solution

tan− 1(tan( ))
5π

4

34. Evaluate 

Watch Video Solution

tan− 1( − ) + cot − 1( ) + tan− 1(sin( − ))
1

√3

1

√3

π

2

35. Prove that : 

Watch Video Solution

cos ec[tan− 1( − √3)] = −
2

√3

36. Prove that tan 1 > 1 >  1.

Watch Video Solution

tan− 1

https://dl.doubtnut.com/l/_bmp5QGeGZFUf
https://dl.doubtnut.com/l/_JQz4MKkzHznm
https://dl.doubtnut.com/l/_hrpFOn85JOkh
https://dl.doubtnut.com/l/_2ZIornQBt0vX


37. Prove that . State with reason whether

the equality is valid for all values of x.

Watch Video Solution

tan(cot − 1 x) = cot(tan− 1 x)

38. Find the values of 

Watch Video Solution

tan− 1(tan 5)

39. Evaluate 

Watch Video Solution

sin(2 cot − 1( − ))
5

12

40. Prove that 

Watch Video Solution

cos(sin− 1( ) + cot − 1( )) =
3

5

3

2

6

5√13

https://dl.doubtnut.com/l/_HY3lqK6K2q9Z
https://dl.doubtnut.com/l/_5WJccndWYD45
https://dl.doubtnut.com/l/_ZSp9D03uvnoT
https://dl.doubtnut.com/l/_MqB7FvrZ4rRU


41. Prove that : 

Watch Video Solution

tan− 1( ) + tan− 1( ) + tan− 1( ) =
1

2

1

5

1

8

π

4

42. Prove that

Watch Video Solution

tan− 1( ) + tan− 1( ) + tan− 1( ) + tan− 1( ) =
1

5

1

7

1

3

1

8

π

4

43. Prove that 

Watch Video Solution

cot − 1(13) + cot − 1(21) + cot − 1( − 8) = π

44. Prove that 

Watch Video Solution

tan− 1 1 + tan− 1 2 + tan− 1 3 = π

https://dl.doubtnut.com/l/_QbWZtkUIlfe6
https://dl.doubtnut.com/l/_urH2XVfKjnfq
https://dl.doubtnut.com/l/_6O9pCOySSf08
https://dl.doubtnut.com/l/_Xv5GarDH8dzD


45. Prove that 

Watch Video Solution

cot( − 2 cot − 13) = 7
π

4

46. Prove that 

Watch Video Solution

sin(2 ) + cos(tan− 12 √2) =
tan− 1 1

3
14
15

47. Prove that 

Watch Video Solution

cos(2 ) = sin(4 )
tan− 1 1

7

tan− 1 1

3

48. Prove that `tan^-1(x/(sqrt(a^2 - x^2)) = sin^-1 (x/a), |x| < a.

Watch Video Solution

https://dl.doubtnut.com/l/_hvWUWDEtkOHa
https://dl.doubtnut.com/l/_BksyLhnUxoIc
https://dl.doubtnut.com/l/_1sMVjOPiOFZj
https://dl.doubtnut.com/l/_7Es7aRrjh6Ph


49. Prove that .

Watch Video Solution

⎞
⎟
⎟
⎠

= − tan− 1 x
tan− 1((√1 + X2) + 1)

x

π

2

1

2

50. Prove that :

Watch Video Solution

tan− 1 x + tan− 1 2 = tan− 1( ), |x| <
x

1 − x2

3x − x3

1 − 3x2

1

√3

51. Write the following function in the simplest form:  ((  

 

Watch Video Solution

tan− 1 √1 + cos x

/ √1 − cos x)))

52. Write the following function in the simplest form: `tan
 -1 ((cosx -

sinx)/(cosx + sinx), -π/4

https://dl.doubtnut.com/l/_DJqbFeGGoM8D
https://dl.doubtnut.com/l/_cZRaGJ8Vly0P
https://dl.doubtnut.com/l/_kyZwK8DuqyOU
https://dl.doubtnut.com/l/_hKwX7BApaxCE


Watch Video Solution

53. Write the following functions in the simplest form : 

Watch Video Solution

, − < x <
tan− 1(cos x)

1 − sin x

3π

2

π

2

54. Prove that : 

Watch Video Solution

tan− 1( ) = − , x ∈ ( − , )
cos x

1 + sin x

π

4
x

2

π

2

π

2

55. Prove that 

Watch Video Solution

2 tan− 1 √ = x, − 1 ≤ x ≤ 1
1 − x

1 + x

56. Prove that : 

Watch Video Solution

tan− 1[ ] = − cos − 1 x
√1 + x − √1 − x

√1 + x + √1 − x

π

4

1

2

https://dl.doubtnut.com/l/_hKwX7BApaxCE
https://dl.doubtnut.com/l/_N9Tu5Ze5kuZj
https://dl.doubtnut.com/l/_BI6sVqNZkEJK
https://dl.doubtnut.com/l/_fklWZnA9ivSQ
https://dl.doubtnut.com/l/_a99g1A8gyhVA


57. Prove that : 

Watch Video Solution

cot − 1[ ] = , x ∈ (0, )
√1 + sin x + √1 − sin x

√1 + sin x + √1 − sin x

x

2

π

4

58. Show that 

Watch Video Solution

4 tan− 1( ) − tan− 1( ) + tan− 1( ) =
1

5

1

70

1

99

π

4

59. Show that 

Watch Video Solution

2 sin− 1( ) − tan− 1( ) =
3

5
17
31

π

4

60. Prove that 

Watch Video Solution

2 tan− 1( − 3) = − + tan− 1( − )
π

2
4
3

https://dl.doubtnut.com/l/_a99g1A8gyhVA
https://dl.doubtnut.com/l/_aLLpiz194nlt
https://dl.doubtnut.com/l/_oSi9oeHBlPFN
https://dl.doubtnut.com/l/_GC93YuHSXCDG
https://dl.doubtnut.com/l/_rere8dG5piEf
https://dl.doubtnut.com/l/_ETqNho7UhchM


61. Prove that :

Watch Video Solution

tan(( )sin− 1( )) =
1

2

3

4
4 − √7

3

62. 

Watch Video Solution

cot − 1 + cot − 1 + cot − 1 = 0
ab + 1

a − b

bc + 1

b − c

ca + 1

c − a

63. Prove that 

Watch Video Solution

tan− 1 1 + tan− 1 2 + tan− 1 3 = π

64. show that

.

Watch Video Solution

tan− 1{tan. tan( − )} = sin− 1( )  where α, β ∈ (
α

2

π

4

β

2

sin α cos β

cos α + sin β

https://dl.doubtnut.com/l/_ETqNho7UhchM
https://dl.doubtnut.com/l/_JGEo9wMwxUWw
https://dl.doubtnut.com/l/_xMvrvpufxpd1
https://dl.doubtnut.com/l/_QCaFlCuKIqhb
https://dl.doubtnut.com/l/_Q4hB5hKLeHOC


65. Show that 

Watch Video Solution

sin− 1( ) + cos − 1( ) + tan− 1( ) = π
12

13
4
5

63

16

66. Solve the following equation 

Watch Video Solution

tan− 1 2 + tan− 1 3x =
π

4

67. If  find the value of 'x'.

Watch Video Solution

tan− 1( ) + tan− 1( ) =
x − 2

x − 4

x + 2

x + 4

π

4

68. Solve the following equations: 

Watch Video Solution

cos(tan− 1 x = sin(cot − 1(x + 1)

https://dl.doubtnut.com/l/_Q4hB5hKLeHOC
https://dl.doubtnut.com/l/_wpxtIHPlED5I
https://dl.doubtnut.com/l/_6kVPOSTMokxV
https://dl.doubtnut.com/l/_u8vF7bcwQGmo
https://dl.doubtnut.com/l/_V9K3NToBam3D


69. Solve for 

Watch Video Solution

x : (tan− 1 x)
2

+ (cot − 1 x)
2

=
5π2

8

70. Solve 

Watch Video Solution

sin[2 cos − 1{cot(2 tan− 1 x)}] = 0

71. Prove the following: 

Watch Video Solution

cos[tan− 1{sin(cot − 1 x)}] = √
1 + x2

2 + x2

72. Prove that 

where 

Watch Video Solution

sec[cot − 1{sin(tan− 1(cos ec(cos − 1 a)))}] = √3 − a2,

|a| < 1

https://dl.doubtnut.com/l/_V9K3NToBam3D
https://dl.doubtnut.com/l/_vfY5DhK98ZcV
https://dl.doubtnut.com/l/_cnVU9AjOczYH
https://dl.doubtnut.com/l/_4TdPk3bqILSo


73. Evaluate 

Watch Video Solution

cos ec− 1(2/√3)

74. The principal value of .

Watch Video Solution

sec− 1( − 2)  is 
2π

3

75. Find the value of tan 

Watch Video Solution

(sec− 1( − 1))

76. Integrate the function: 

Watch Video Solution

1

x − √x

https://dl.doubtnut.com/l/_pnaTs2grvjWv
https://dl.doubtnut.com/l/_RV0csnbFKNuj
https://dl.doubtnut.com/l/_UjJFcnHfRcC8
https://dl.doubtnut.com/l/_Ni4Wjrfy7ysL


77. Find the value of the following 

Watch Video Solution

cos(sec− 1 x + cos ec− 1x), |x| > 1

78. Show that 

Watch Video Solution

sec− 1( ) = 2 cos − 1 x, 0 ≤ x ≤ 1, x ≠ =
1

2x2 − 1

1

2

79. Write  in simplest form.

Watch Video Solution

tan− 1( ), |x| > 1
1

√x2 − 1

80. Show that : 

Watch Video Solution

sec(tan− 1 x) = √x2 + 1f or allx ∈ R

https://dl.doubtnut.com/l/_ufCE0u3QxXIq
https://dl.doubtnut.com/l/_IBdDHgW09Xm0
https://dl.doubtnut.com/l/_U2kIRUKKiSbK
https://dl.doubtnut.com/l/_1okY7MmiLq1b


81. Show that : 

Watch Video Solution

cos ec(cot − 1 x) = √x2 + 1f or allx ∈ R

82. Show that : 

Watch Video Solution

sec− 1 x = tan− 1 √x2 − 1f or x ≥ 1

83. Show that : 

Watch Video Solution

tan− 1 x = sec− 1 √1 + x2f or x ≥ 0

84. Find the value 

Watch Video Solution

2 tan− 1( ) + sec− 1( ) + 2 tan− 1( )
1

5

5√2

7

1

8

https://dl.doubtnut.com/l/_AIS3XkWCa4J2
https://dl.doubtnut.com/l/_YSge4q7QHjpO
https://dl.doubtnut.com/l/_MzUmiwKT4Y5n
https://dl.doubtnut.com/l/_rRSlhl7gXOEY


Exercise

85. find values 

Watch Video Solution

tan− 1(1) + sin− 1( − )
1

2

86. Solve the equation

Watch Video Solution

sec− 1( ) − sec− 1( ) = sec− 1 b − sec− 1 a|a| ≥ 1, |b| ≥ 1
x

a

x

b

1. Find the value of 

Watch Video Solution

sin− 1( )
1

2

https://dl.doubtnut.com/l/_rRSlhl7gXOEY
https://dl.doubtnut.com/l/_p1CzIv7rzJvr
https://dl.doubtnut.com/l/_GYFcs7RPR2uA
https://dl.doubtnut.com/l/_X5rB4zppVF2V


2. Find the principal value of 

Watch Video Solution

sin− 1( )
1

√2

3. Find the value of 

Watch Video Solution

sin− 1( − 1)

4. Find the value of 

Watch Video Solution

sin− 1( − ( ))
1

2

5. Find the principal value of 

Watch Video Solution

cos − 1( )
√3

2

https://dl.doubtnut.com/l/_Q5ySEgzoiDw8
https://dl.doubtnut.com/l/_EOpUICSH3aDA
https://dl.doubtnut.com/l/_wJUazQBDWmYa
https://dl.doubtnut.com/l/_6iO63ysPBR7F


6. Find the value of 

Watch Video Solution

cos − 1( − )
√3

2

7. Find the value of 

Watch Video Solution

cos − 1( − 1)

8. Find the principal value of

Watch Video Solution

cos − 1( − )
1

√2

9. Find the value of 

sin(sin− 1 x + cos − 1 x), |x| ≤ 1

https://dl.doubtnut.com/l/_6iO63ysPBR7F
https://dl.doubtnut.com/l/_dM6BSDcFBZNS
https://dl.doubtnut.com/l/_Of47qxLaWrO8
https://dl.doubtnut.com/l/_VBNbHDyCYJTW
https://dl.doubtnut.com/l/_QO3OEAetAY90


Watch Video Solution

10. Find the value of 

Watch Video Solution

sin− 1(sin(0 ))
π

10

11. Find the value of 

Watch Video Solution

cos − 1( ) + 2 sin− 1( )
√3
2

√3
2

12. Find the value of 

Watch Video Solution

sin− 1[cos(sin− 1( ))]
√3

2

https://dl.doubtnut.com/l/_QO3OEAetAY90
https://dl.doubtnut.com/l/_zplByZueP6cu
https://dl.doubtnut.com/l/_mLKgRBShbC31
https://dl.doubtnut.com/l/_DjkdfelKp5KG
https://dl.doubtnut.com/l/_gMbMHdxpjuHW


13. Prove that following : 

Watch Video Solution

2 sin− 1 x = cos − 1(1 − 2x2), 0 ≤ x ≤ 1

14. Prove the following: 

Watch Video Solution

3 sin– 1x = sin– 1(3x– 4x3), x ∈ [– , ]
1

2

1

2

15. Prove the following: 

Watch Video Solution

3 cos – 1x = cos – 1(4x3– 3x), x ∈ [ , 1]
1

2

16. Prove that following : 

Watch Video Solution

cos − 1 x = 2 = 2 , |x| ≤ 1
sin− 1 √1 − x

2

cos − 1 √1 + x

2

https://dl.doubtnut.com/l/_gMbMHdxpjuHW
https://dl.doubtnut.com/l/_ZSRLeMyspusR
https://dl.doubtnut.com/l/_8hhEhZHQcquC
https://dl.doubtnut.com/l/_b3MR23Peiib9
https://dl.doubtnut.com/l/_YU4ZWni9dNFn


17. Prove that following : 

Watch Video Solution

sin(2 cos − 1( − )) = − ( )
4
5

24
25

18. Prove that following : 

Watch Video Solution

cos(2 sin− 1( − )) =
2

5
17
25

19. Prove that following : 

Watch Video Solution

cos(3 cos − 1( )) = −
2

5

118

125

20. Write the following functions in the simplest form: 

Watch Video Solution

sin− 1 √1 − x2, o ≤ x ≤ 1

https://dl.doubtnut.com/l/_YU4ZWni9dNFn
https://dl.doubtnut.com/l/_A4hJaMUyNHBr
https://dl.doubtnut.com/l/_osevEEPHDcbW
https://dl.doubtnut.com/l/_fvfQ8fV04Jrb


Watch Video Solution

21. Write the following functions in the simplest form: 

Watch Video Solution

cos − 1 √1 − x2, o ≤ x ≤ 1

22. Write the following functions in the simplest form: 

Watch Video Solution

cos − 1(2x2 − 1), 0 ≤ x ≤ 1

23. Write the following functions in the simplest form: 

Watch Video Solution

cos − 1(1 − 2x2), o ≤ x ≤ 1

24. Find x if cos(sin− 1( ) + os − 1x) = 0
1

5

https://dl.doubtnut.com/l/_fvfQ8fV04Jrb
https://dl.doubtnut.com/l/_tqjkpfUq4X69
https://dl.doubtnut.com/l/_FbPRBAhJJ9Q5
https://dl.doubtnut.com/l/_yFFwvHwgfNsW
https://dl.doubtnut.com/l/_2pCXtZgmj24x


Watch Video Solution

25. Find x if 

Watch Video Solution

sin− 1( ) + sin− 1( ) =
8

x

15

x

π

2

26. Find x if 

Watch Video Solution

cos − 1 x + sin− 1( ) =
x

2

π

6

27. Find x if 

Watch Video Solution

sin− 1 x + sin− 1(1 − x) = cos − 1 x

28. Find x if 

Watch Video Solution

sin− 1(6x) + sin− 1(6√3x) = −
π

2

https://dl.doubtnut.com/l/_2pCXtZgmj24x
https://dl.doubtnut.com/l/_4g0Td2C2jGVp
https://dl.doubtnut.com/l/_489EuHIHSvjE
https://dl.doubtnut.com/l/_0DwT58CtIAan
https://dl.doubtnut.com/l/_dH0SI8uwOanw


29. Prove that : 

Watch Video Solution

sin− 1( − ) = cos − 1( − ) − π
4
5

3

5

30. Prove that : 

Watch Video Solution

sin− 1( ) + sin− 1( ) = sin− 1( )
3

5

8

17

77
85

31. Prove that : 

Watch Video Solution

cos(sin− 1( ) + sin− 1( )) =
3

5

5

13

33

65

32. Prove that : 

sin− 1( ) + sin− 1( ) = cos − 1( )
3

5

5

13

33

65

https://dl.doubtnut.com/l/_cLoYui24PAVZ
https://dl.doubtnut.com/l/_HAIRlPG4Oa5h
https://dl.doubtnut.com/l/_WZjKZQeefz79
https://dl.doubtnut.com/l/_KB5M3xZ4Essd


Watch Video Solution

33. Prove that : 

Watch Video Solution

cos − 1( ) − cos − 1( ) = cos − 1( )
8

17

3

5
84
85

34. Show that :

Watch Video Solution

− sin− 1( ) = sin− 1( )
9π

8

9

4

1

3

9

4

2√2

3

35. Find the value of 

Watch Video Solution

tan− 1( − )
1

√3

36. Find the principal value of cot − 1( − )
1

√3

https://dl.doubtnut.com/l/_KB5M3xZ4Essd
https://dl.doubtnut.com/l/_yWIX0X1mBBtO
https://dl.doubtnut.com/l/_T1WNBYZEJpsm
https://dl.doubtnut.com/l/_LGG3RPYd8oUh
https://dl.doubtnut.com/l/_3URFJSiQQAQ1


Watch Video Solution

37. Find the value of 

Watch Video Solution

cot − 1( − √3)

38. Find the value of 

Watch Video Solution

tan− 1(tan )
3π

4

39. Evaluate: 

Watch Video Solution

tan− 1{sin( − )}
π

2

40. Find the value of 

Watch Video Solution

sec(tan− 1( − √3)

https://dl.doubtnut.com/l/_3URFJSiQQAQ1
https://dl.doubtnut.com/l/_lSmX7OGNQNpn
https://dl.doubtnut.com/l/_69loumY7aewV
https://dl.doubtnut.com/l/_b9CF8gt5XJv8
https://dl.doubtnut.com/l/_FnT9rR4IBVo4


41. The value of  is equal to :

Watch Video Solution

cot(tan− 1 x + cot − 1 x)

42. Find the value of .

Watch Video Solution

tan− 1[2 cos(2 sin− 1 )]
1

2

43. Find the value of 

Watch Video Solution

tan( + cot − 1( ))
cos − 1 4

5

3

2

44. Find the value of 

Watch Video Solution

tan− 1{9 cos(2 sin− 1( )))}
2

3

https://dl.doubtnut.com/l/_vD4YIjSYfGuX
https://dl.doubtnut.com/l/_DfAJSpUt85qj
https://dl.doubtnut.com/l/_wD2YugBKxZvJ
https://dl.doubtnut.com/l/_KoEswS6i4459


45. Prove that 

Watch Video Solution

tan− 1( ) + tan− 1( ) =
1

2

1

3

π

4

46. Prove the following: 

Watch Video Solution

tan– 1( ) + tan− 1( ) = tan− 1( )
2

11
7
24

1

2

47. Prove that 

Watch Video Solution

tan− 1( ) + tan− 1( ) = tan− 1( )
1

7

1

13

2

9

48. Prove that 

Watch Video Solution

2 tan− 1( ) + tan− 1( ) = tan− 1( )
1

2

1

9

39

23

https://dl.doubtnut.com/l/_Iff7geyeBpeD
https://dl.doubtnut.com/l/_dk41zOrGoDrW
https://dl.doubtnut.com/l/_XOcgYZHwRMDa
https://dl.doubtnut.com/l/_rjOMYsT7fiTd


49. Prove that : 

Watch Video Solution

sin− 1( ) + cos − 1( ) = tan− 1( )
5

13

3

5

63

16

50. Prove that 

Watch Video Solution

tan− 1( ) + tan− 1( ) = cos − 1( ) = sin− 1( )
1

4

2

9

1
2

3

5

1

√5

51. Prove that 

Watch Video Solution

sin− 1( ) + cos − 1( ) = tan− 1( )
4
5

12

13

63

16

52. Prove that : 

h id l i

2 sin− 1( ) = tan− 1( )
3

5
24
7

https://dl.doubtnut.com/l/_rjOMYsT7fiTd
https://dl.doubtnut.com/l/_7Hj6JJqgUGNk
https://dl.doubtnut.com/l/_HdzxMsOlmOPj
https://dl.doubtnut.com/l/_3opnAa4uH9Yy
https://dl.doubtnut.com/l/_6rRlL3thsKxC


Watch Video Solution

53. Prove that 

Watch Video Solution

cot − 1 7 + cot − 1 8 + cot − 1 18 = cot − 1 3

54. Prove that 

Watch Video Solution

4 tan− 1( ) − tan− 1( ) =
1

5

1

239

π

4

55. Prove that 

Watch Video Solution

tan(sin− 1 x) = ( ), 1x1 < 1
x

√1 − x2

https://dl.doubtnut.com/l/_6rRlL3thsKxC
https://dl.doubtnut.com/l/_RoYhMdxIzKpO
https://dl.doubtnut.com/l/_Jwu8mDJY8hpO
https://dl.doubtnut.com/l/_8tlQ2u2eUiXA


56. Prove that 

Watch Video Solution

= + tan− 1 x, x < 1
tan− 1(1 + x)

1 − x

π

4

57. Prove that 

Watch Video Solution

3 tan− 1 x = , |x| <
tan− 1(3x − x3)

1 − 3x2

1

√3

58. Prove that 

Watch Video Solution

tan− 1
√x = sin− 1 √ + x = cos − 1( ), x ≥ 0

x

1

1

2

1 − x

1 + x

https://dl.doubtnut.com/l/_UzrqcfljVE4i
https://dl.doubtnut.com/l/_5RwcA73s1hgn
https://dl.doubtnut.com/l/_P2pLJRLEhPOP


59. Prove that 

 = tan^-1 sqrt x + tan^-1 sqrty , x > 0, y > 0, x y < 1`

Watch Video Solution

tan− 1(
√x + √y

1 − (√xy)

60. Prove that 

Watch Video Solution

= tan− 1 x + tan− 1
√x, 0 ≤ x < 1

tan− 1(x + √x)

1 − x√x

61. Prove that 

Watch Video Solution

2 tan− 1( ) = sin− 1( ), |x| ≥ 1
1

x

2x

1 + x2

https://dl.doubtnut.com/l/_wXY6VgY3UVw3
https://dl.doubtnut.com/l/_ClpGRp5fbnuq
https://dl.doubtnut.com/l/_Fq90oMIQgb9r


62. Prove that 

Watch Video Solution

sec(tan− 1( )) =
x

2

√4 + x2

2

63. Prove that 

Watch Video Solution

sin(2 tan− 1(√ ) = √1 − x2, − ≤ x < 1
1 + x

1 − x

64. 

Watch Video Solution

tan− 1
√x = cos − 1( ), x ∈ [0, 1]

1

2

1 − x

1 + x

65. Prove that 

Watch Video Solution

cos(2 tan− 1(√ )) = x, − 1 < x ≤ 1
1 − x

1 + x

https://dl.doubtnut.com/l/_K8QK6WZk5ir2
https://dl.doubtnut.com/l/_PTR17TOlAYYN
https://dl.doubtnut.com/l/_ueh0mTJTDfXA
https://dl.doubtnut.com/l/_eLrsndahVgC0


66. Prove that :

Watch Video Solution

tan− 1( ) − tan− 1(4 ) = tan− 1 2x, |2x| <
6x − 8x3

1 − 12x2

x

1 − 4x2

1

√3

67. Write in the simplest form : `tan^-1 (sin x/(1 + cos x))

Watch Video Solution

68. Write in simplest form : .

Watch Video Solution

tan− 1(√ ), x < π
1 − cosx

1 + cosx

69. Write the following in the simplest form 

Watch Video Solution

tan− 1( )
cos x + sin x

cos x − sin x

https://dl.doubtnut.com/l/_eLrsndahVgC0
https://dl.doubtnut.com/l/_pFy7a1e2t2iF
https://dl.doubtnut.com/l/_Lu0aj4VU1y1m
https://dl.doubtnut.com/l/_jwLA1a7FKMUU
https://dl.doubtnut.com/l/_K8ZtuDO2jqD1


Watch Video Solution

70. Express the following functions in the simplest form : 

Watch Video Solution

tan− 1( ), |x| < 1
x

√1 − x2

71. Express the following functions in the simplest form : 

Watch Video Solution

tan− 1( ), 0 ≤ , x < 1
2√x

1 − x

72. Express the following functions in the simplest form : 

, - 1 < x le 1`

Watch Video Solution

tan− 1(√ )
1 − x

1 + x

https://dl.doubtnut.com/l/_K8ZtuDO2jqD1
https://dl.doubtnut.com/l/_ABwr6szdKriq
https://dl.doubtnut.com/l/_fVLb0Tb1p4WA
https://dl.doubtnut.com/l/_nxuKRTLdjFgL


73. Express the following functions in the simplest form : 

Watch Video Solution

cot − 1(√1 + x2 − x)

74. Express the following functions in the simplest form : 

Watch Video Solution

, |x| <
tan− 1(3x − x3)

1 − 3x2

1

√3

75. Express the following functions in the simplest form : 

Watch Video Solution

tan− 1( ), a > 0, |x| <
3a2x − x3

a3 − 3ax2

a

√3

76. Express the following functions in the simplest form : 

 and , − < x <
tan− 1(a cos x − b sin x)

b cos x + a sin x

π

2
π

2
tan x > − 1

a

b

https://dl.doubtnut.com/l/_s6Oy7Bp4BMIa
https://dl.doubtnut.com/l/_mqaqwiKkcwuH
https://dl.doubtnut.com/l/_Islbamn5AK5X
https://dl.doubtnut.com/l/_vEX5gqfH6jox


Watch Video Solution

77. Solve : 

Watch Video Solution

cot − 1(2x) + cot − 1(3x) =
π

4

78. Solve the following equations. 

Watch Video Solution

cot − 1 x − cot − 1(x + 2) = , x > 0
π

12

79. Solve the following equations: 

Watch Video Solution

tan− 1( ) = tan− 1 x, x > 0
1 − x

1 + x

1

2

80. Solve the .2 tan− 1(cos x) = tan− 1(2 cos ecx)

https://dl.doubtnut.com/l/_vEX5gqfH6jox
https://dl.doubtnut.com/l/_3SJRup7hse16
https://dl.doubtnut.com/l/_RiWaCWTRT9rZ
https://dl.doubtnut.com/l/_AjcOegWnk9IV
https://dl.doubtnut.com/l/_C7joxdJNlaIw


Watch Video Solution

81. Solve the following equations. 

Watch Video Solution

cos − 1( ) + tan− 1( ) = , 0 ≤ x < 1
1 − x2

1 + x2

2x

1 − x2

2π

3

82. Solve : 

Watch Video Solution

3 tan− 1( ) − tan− 1( ) = tan− 1( )
1

2 + √3

1

x

1

3

83. Solve the following equations. 

Watch Video Solution

tan− 1(x − 1) + tan− 1 x + tan− 1(x + 1) = tan− 1(3x)

https://dl.doubtnut.com/l/_C7joxdJNlaIw
https://dl.doubtnut.com/l/_T8qqk1HaYTkp
https://dl.doubtnut.com/l/_T4Jg2g0HKZrC
https://dl.doubtnut.com/l/_1xtYm9I7CXdf


84. Solve the following equations. 

Watch Video Solution

tan− 1(√x2 + x + sin− 1 √x2 + x + 1 =
π

2

85. Solve the following equations. 

Watch Video Solution

+ tan 6 − 1 =
tan− 1(x − 1)

x − 2

x + 1

x + 2

π

4

86. Solve :  .

Watch Video Solution

((tan− 1( ) + tan− 1( )) = )
2x − 3

2x − 5

2x + 3

2x + 5

π

4

87. Solve the following equations. 

Watch Video Solution

cos(tan− 1 x) = sin(cot − 1(3/4)

https://dl.doubtnut.com/l/_e6lOfNpSqfNE
https://dl.doubtnut.com/l/_n0pfYEa2xMSN
https://dl.doubtnut.com/l/_QNziSEo6yRVB
https://dl.doubtnut.com/l/_IaJlCXQhHfOF


88. Solve the following equations: 

Watch Video Solution

tan− 1(x + 1) + tan− 1(x − 1) = tan− 1( ), x > 0
8

31

89. Prove that for 0 < a < b < c 

Watch Video Solution

+ + = π
cot − 1(1 + ab)

a − b

cot − 1(1 + bc)

b − c

cot − 1(1 + ca)

c − a

90. If , then prove that: x + y + z = xyz.

Watch Video Solution

tan− 1 x + tan− 1 y + tan− 1 z = π

91. Find the value of the following:

[sin− 1(2 ) + ], |x| < 1, y > 0 ਅ ਤ ੇ xy < 1
tan 1

2
x

1 + x2

cos − 1(1 − y2)

1 + y2

https://dl.doubtnut.com/l/_IaJlCXQhHfOF
https://dl.doubtnut.com/l/_2E7yNwqaxP4l
https://dl.doubtnut.com/l/_3MxJtZHlyBXW
https://dl.doubtnut.com/l/_HV7vFgQWyk6v
https://dl.doubtnut.com/l/_eBoRTInCxNew


Watch Video Solution

92. Prove that : 

Watch Video Solution

tan− 1[ ] = − cos − 1 x2√1 + x2 − √1 − x2

√1 + x2 + √1 − x2

π

4

1

2

93. Prove the following: 

Watch Video Solution

cos[tan− 1{sin(cot − 1 x)}] = √
1 + x2

2 + x2

94. If , find the maximum and minimum values of 

Watch Video Solution

x ∈ R

2 tan− 1 x + sin− 1( )
2x

1 + x2

95. Find the values of sec− 1( )
2

√3

https://dl.doubtnut.com/l/_eBoRTInCxNew
https://dl.doubtnut.com/l/_S7Ws3BsDA4ND
https://dl.doubtnut.com/l/_saWpiqtTZAu4
https://dl.doubtnut.com/l/_OqwJQvAqaIvZ
https://dl.doubtnut.com/l/_11UIywd3qwdG


Watch Video Solution

96. Find the values of 

Watch Video Solution

sec− 1(sec( ))
4π

3

97. Find the values of 

Watch Video Solution

cot(cos ec− 1( − 1))

98. Show that 

Watch Video Solution

2 tan− 1 x = cos ec− 1( ), 0 < |x| ≤ 1
1 + x2

2x

99. Solve the equation 

Watch Video Solution

cos ec− 1( ) + cos ec− 1( ) =
x

8
x

15

π

2

https://dl.doubtnut.com/l/_11UIywd3qwdG
https://dl.doubtnut.com/l/_fIKKX7W2KTql
https://dl.doubtnut.com/l/_RTQJKCnXoaMy
https://dl.doubtnut.com/l/_vwJeA32VLICi
https://dl.doubtnut.com/l/_0S1Zgy8U2Wfx


100. Solve the equation

Watch Video Solution

sec− 1( ) − sec− 1( ) = sec− 1 b − sec− 1 a|a| ≥ 1, |b| ≥ 1
x

a

x

b

101. Prove that 

Watch Video Solution

cot − 1 x = cos ec− 1√1 + x2f or x ≥ 0

102. Prove that 

Watch Video Solution

tan(sec− 1 x) = √x2 − 1f or x ≤ 1

103. Prove that 

Watch Video Solution

cos ec− 1x = cot − 1 √x2 − 1f or x ≥ 1

https://dl.doubtnut.com/l/_2yrV27zvsXHN
https://dl.doubtnut.com/l/_ptVwXNeGFANx
https://dl.doubtnut.com/l/_cB1Tiuipm3yL
https://dl.doubtnut.com/l/_SPGgY8PyXqhx


104. Prove that 

Watch Video Solution

cot(cos ec− 1x) = √x2 − 1f or x ≥ 1

105. Prove that : 

Watch Video Solution

sec2(tan− 1 2) + cos ec2(cot − 1 3) = 15

106. Find the values of 

Watch Video Solution

tan2(sec− 1 2) + cot2(cos ec− 13)

107. Write down the value of 

Watch Video Solution

sin− 1{sin( )}
7π

6

108. If , then find the values of x and ysin− 1 x + sin− 1 y = − π

https://dl.doubtnut.com/l/_DFvgs22Xi6xa
https://dl.doubtnut.com/l/_jsGAmlzR9sv8
https://dl.doubtnut.com/l/_QJrXbBOgzXqe
https://dl.doubtnut.com/l/_HU0g7AJ0wqac
https://dl.doubtnut.com/l/_XY2rAzKBox1A


Watch Video Solution

109. If 

Watch Video Solution

sin− 1 x + sin− 1 y = , then cos − 1 x + cos − 1 y
2π

3

110. Find the value of 

Watch Video Solution

cos − 1(cos( − ))
π

4

111. What ist he domain of the functio n ?

Watch Video Solution

f(x) = sin− 1 x + sec− 1 x

112. What is the domain of the function ?

Watch Video Solution

f(x) = cos − 1 x + sec− 1 x

https://dl.doubtnut.com/l/_XY2rAzKBox1A
https://dl.doubtnut.com/l/_rAX06yBKskE5
https://dl.doubtnut.com/l/_JrTMo8ivm8Qr
https://dl.doubtnut.com/l/_IkDzob59ULFM
https://dl.doubtnut.com/l/_KNUFGoLcwPb9
https://dl.doubtnut.com/l/_c5FgtFVCuuvq


113. Find the range of the function .

Watch Video Solution

f(x) = cos − 1 x + cos ec− 1x

114. Write down the domain of the function .

Watch Video Solution

f(x) = tan− 1 x + cot − 1 x

115. Find the range of the function .

Watch Video Solution

sec− 1 x + cos ec− 1x, |x| ≥ 1

116. If  for all , then find the set S.

Watch Video Solution

cos ec− 1x = sin− 1( )
1

x
x ∈ S

117. If sec  x for all x  A, then find the set A.( ) = cos − 11

x
∈

https://dl.doubtnut.com/l/_c5FgtFVCuuvq
https://dl.doubtnut.com/l/_ZY96Z4vOx1WT
https://dl.doubtnut.com/l/_n5AfEzSKP0Fb
https://dl.doubtnut.com/l/_vPz0Djmp2EtW
https://dl.doubtnut.com/l/_v14Geq5Qs7hi


Watch Video Solution

118. Find the value of 

Watch Video Solution

sin− 1(cos(sin− 1 x)) + cos − 1(sin(cos − 1 x))

119. If  for all x  S, then find the set S.

Watch Video Solution

cot − 1 x = tan− 1( )
1

x
∈

120. Find the value of tan 

Watch Video Solution

(sec− 1( − 1))

121. Write down the value of sec , where |x| > 1

Watch Video Solution

(cos ec− 1x)

https://dl.doubtnut.com/l/_v14Geq5Qs7hi
https://dl.doubtnut.com/l/_8XOGz9TH7tCU
https://dl.doubtnut.com/l/_CXrdX7U4StAY
https://dl.doubtnut.com/l/_eWUOZB3HemnW
https://dl.doubtnut.com/l/_yZJGkGRLPb8s


122. If |x|  1, then  = 2 k. Write down the value of k.

Watch Video Solution

≥ sin− 1( )
2x

1 + x2

123. Compute 

Watch Video Solution

cos(2 sin− 1( − ))
1

3

124. Compute 

Watch Video Solution

cos(2 cos − 1( − ))
1

√3

125. Evaluate 

Watch Video Solution

sin(2 cos − 1( − ))
3

5

https://dl.doubtnut.com/l/_TFrPJ0D0JR7V
https://dl.doubtnut.com/l/_vDB5fHCeLzNs
https://dl.doubtnut.com/l/_WZhWawCFVzNy
https://dl.doubtnut.com/l/_jAJCGLItVs3p


126. Write down the conditioni under which 

(x+y)/(1-xy), x, y in r`.

Watch Video Solution

tan− 1 x + tan− 1 y = tan− 1

127. If x  R, find the value of 

Watch Video Solution

∈ cos(tan− 1 x + cot − 1 x)

128. What is the value of ?

Watch Video Solution

cos − 1( )
1

√2

129. Evaluate 

Watch Video Solution

tan− 1( ) + tan− 1( )
1

2

1

3

https://dl.doubtnut.com/l/_EbK4jQHezfDB
https://dl.doubtnut.com/l/_RDVYh14Wka5b
https://dl.doubtnut.com/l/_vrro3Bnf5zeU
https://dl.doubtnut.com/l/_sZlGwfXS594A
https://dl.doubtnut.com/l/_b3BVXRRCcvSU


130. Compute 

Watch Video Solution

tan− 1(2) − tan− 1(1)

131. Find the value of 

Watch Video Solution

sin− 1( )
sin(7π)

4

132. Find the value of 

Watch Video Solution

cos − 1(cos( ))
7π

6

133. Write the value of sin 

Watch Video Solution

[ − sin− 1( − )]
π

3

1

2

134. Write the value of tan(2 tan− 1(1/5))

https://dl.doubtnut.com/l/_b3BVXRRCcvSU
https://dl.doubtnut.com/l/_4wXKzN6OnaLe
https://dl.doubtnut.com/l/_iSh7hjHbXT6H
https://dl.doubtnut.com/l/_srbNb7ekcwee
https://dl.doubtnut.com/l/_OLtrBKmBU9Gi


Watch Video Solution

135. If `tan^-1 x + tan^-1y = pi/4, xy < 1, then write the value of x +y + xy.

Watch Video Solution

136. Find the principal values of the following: 

Watch Video Solution

sin− 1( − )
1
2

137. Find the principal values of the following: 

Watch Video Solution

cos − 1( )
√3
2

https://dl.doubtnut.com/l/_OLtrBKmBU9Gi
https://dl.doubtnut.com/l/_a1ZZBkxqgALe
https://dl.doubtnut.com/l/_7QkJvWwZQLMj
https://dl.doubtnut.com/l/_sEfpx1Ezxrd4


138. Find the principal values of the following (2-8): 

Watch Video Solution

cos ec− 1(2)

139. Find the principal values of the following : 

Watch Video Solution

tan− 1( − √3)

140. Find the principal values of the following: 

Watch Video Solution

cos − 1( − )
1

2

141. Find the principal values of the following : 

tan− 1( − 1)

https://dl.doubtnut.com/l/_qnVEQ4kICXpk
https://dl.doubtnut.com/l/_eUFYj1DCYG10
https://dl.doubtnut.com/l/_b6bDAFBIpmW2
https://dl.doubtnut.com/l/_iywxvqTZjtM3


Watch Video Solution

142. Find the principal values of the following : 

Watch Video Solution

sec− 1( − )
2

√3

143. Find the principal values of the following: 

Watch Video Solution

cot − 1(√3)

144. Find the principal values of the following: 

Watch Video Solution

cos − 1( − )
1

√2

https://dl.doubtnut.com/l/_iywxvqTZjtM3
https://dl.doubtnut.com/l/_WS9mI85Lls2m
https://dl.doubtnut.com/l/_Ka2En5fDFK7L
https://dl.doubtnut.com/l/_8GAh41tSBXkU


145. Find the principal values of the following (2-8): 

Watch Video Solution

cos ec− 1( − √2)

146. Find the values of the following 

Watch Video Solution

tan− 1(1) + cos − 1( − ) + sin− 1( − )
1

2

1

2

147. Find the values of the following 

Watch Video Solution

cos − 1( ) + 2 sin− 1( )
1

2

1

2

148. If , then sin− 1 x = y 0 ≤ y ≤ π

https://dl.doubtnut.com/l/_dpHjYUiGGInH
https://dl.doubtnut.com/l/_9qoAjxesV7vW
https://dl.doubtnut.com/l/_9cYDIfAjxrYd
https://dl.doubtnut.com/l/_kZOxQQGaCi8w


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

0 ≤ y ≤ π

− ≤ y ≤
π

2

π

2

0 < y < π

− < y <
π

2

π

2

149.  is equal to :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

tan− 1 √3 − sec− 1( − 2)

π

−
π

3

π

3

2π

3

https://dl.doubtnut.com/l/_kZOxQQGaCi8w
https://dl.doubtnut.com/l/_iyPLofn6kKI9


150. Prove the following: 

Watch Video Solution

3 sin– 1x = sin– 1(3x– 4x3), x ∈ [– , ]
1

2

1

2

151. Prove the following: 

Watch Video Solution

3 cos – 1x = cos – 1(4x3– 3x), x ∈ [ , 1]
1

2

152. Prove the following: 

Watch Video Solution

tan– 1( ) + tan− 1( ) = tan− 1( )
2

11
7
24

1

2

153. Prove that : 

Watch Video Solution

2 tan− 1( ) + tan− 1( ) = tan− 1( )
1

2

1

7

31

17

https://dl.doubtnut.com/l/_iyPLofn6kKI9
https://dl.doubtnut.com/l/_gLS7YjWzEHUo
https://dl.doubtnut.com/l/_PMwNTpSKM6G4
https://dl.doubtnut.com/l/_AnMwKRbbYgVJ
https://dl.doubtnut.com/l/_LXPoPGnWrO1P
https://dl.doubtnut.com/l/_iGMXAOJxDRXv


154. Write the following function in the simplest form:

Watch Video Solution

tan− 1( ), x ≠ 0
√1 + x2 − 1

x

155. Write the following function in the simplest form :

Watch Video Solution

tan− 1( ), |x| > 1
1

√x2 − 1

156. Write the following functions in the simplest form: 

Watch Video Solution

tan− 1(( ), 0 < x < π
√1 − cos x

1 + cos x

157. Write the following function in the simplest form: `tan
 -1 ((cosx -

sinx)/(cosx + sinx), -π/4

https://dl.doubtnut.com/l/_iGMXAOJxDRXv
https://dl.doubtnut.com/l/_bXKtGmTfyymx
https://dl.doubtnut.com/l/_o9Pp0hs3p0cO
https://dl.doubtnut.com/l/_14IvSS7eBCUI


Watch Video Solution

158. Write the following functions in the simplest form: 

Watch Video Solution

tan− 1( )
x

√a2 − x2

159. Write the following function in the simplest form : `tan^-1 ((3a^2 x -

x^3)/(a^3 - 3ax^2)), a>0, -a/sqrt3

Watch Video Solution

160. Find the value of the following: 

Watch Video Solution

tan− 1[2 cos(2 sin− 1( ))]
1

2

https://dl.doubtnut.com/l/_14IvSS7eBCUI
https://dl.doubtnut.com/l/_HyTk0i6vS04K
https://dl.doubtnut.com/l/_aYG4kL4C4ffF
https://dl.doubtnut.com/l/_C6BsaF0gtT1z


161. Find the value of each of the following: 

Watch Video Solution

cot(tan− 1 a + cot − 1 a)

162. Find the value of the following:

Watch Video Solution

[sin− 1(2 ) + ], |x| < 1, y > 0 ਅ ਤ ੇ xy < 1
tan 1

2
x

1 + x2

cos − 1(1 − y2)

1 + y2

163. If , then find the value of 'x'`

Watch Video Solution

' sin(sin− 1( ) + cos − 1 x) = 1
1

5

164. If  then find the value of x

Watch Video Solution

tan− 1( ) + tan− 1( ) = ,
x − 1

x − 2

x + 1

x + 2

π

4

https://dl.doubtnut.com/l/_SYXxgFSxkVZO
https://dl.doubtnut.com/l/_pkDDNRA2q5mL
https://dl.doubtnut.com/l/_6qmzT5kdxBeW
https://dl.doubtnut.com/l/_3ANzK2JV4J7T


165. Find the values of each of the expressions 

Watch Video Solution

sin− 1(sin( ))
2π

3

166. Find the value of the following 

Watch Video Solution

tan− 1( )
tan(3π)

4

167. Find the values of each of the expressions 

Watch Video Solution

tan(sin− 1( ) + cot − 1( ))
3

5

3

2

168.  is equal to

Watch Video Solution

cos − 1(cos )
7π

6

https://dl.doubtnut.com/l/_oyIei7lSnunL
https://dl.doubtnut.com/l/_b47FdUUgAKin
https://dl.doubtnut.com/l/_k1uoXrfyOVuA
https://dl.doubtnut.com/l/_9GlkSimvOtep


169. Find the value of each of the following: 

`

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

7π

6

5π

6

π

3

π

6

170.  is equal to

A. 

B. 

sin( − sin− 1( − ))
π

3

1

2

1

2

1

3

https://dl.doubtnut.com/l/_9GlkSimvOtep
https://dl.doubtnut.com/l/_2qBZXktSsYl1
https://dl.doubtnut.com/l/_tDqiSt6s6oab


C. 

D. 1

Answer:

Watch Video Solution

1

4

171.  is equal to :

A. 

B. 

C. 0

D. 

Answer:

Watch Video Solution

tan− 1(√3) − cot − 1( − √3)

π

−
π

2

2√3

https://dl.doubtnut.com/l/_tDqiSt6s6oab
https://dl.doubtnut.com/l/_LZ3UGHrynGav


172. Find the value of 

Watch Video Solution

cos − 1(cos 10)

173. Find the value of the following: 

Watch Video Solution

tan− 1(tan(7 ))
π

6

174. Prove that : 

Watch Video Solution

2 sin− 1( ) = tan− 1( )
3

5
24
7

175. Prove that : 

Watch Video Solution

sin− 1( ) + sin− 1( ) = sin− 1( )
8

17

3

5
77
85

https://dl.doubtnut.com/l/_QRmiTXcR3yxA
https://dl.doubtnut.com/l/_C4mqZX8TigF8
https://dl.doubtnut.com/l/_Fg9IQ4AdR41S
https://dl.doubtnut.com/l/_bjLoeWjgRmYX


176. Prove that : 

Watch Video Solution

cos − 1( ) + cos − 1( ) = cos − 1( )
4
5

12

13

33

65

177. Prove that : 

Watch Video Solution

cos − 1( ) + sin− 1( ) = sin− 1( )
12

13

3

5

56

65

178. Prove that 

Watch Video Solution

tan− 1 = sin− 1 + cos − 163

16

5

13

3

5

179. Prove that :

Watch Video Solution

tan− 1( ) + tan− 1( ) + tan− 1( ) + tan− 1( ) =
1

3

1

5

1

7

1

8

π

4

https://dl.doubtnut.com/l/_IuBslLzkihWt
https://dl.doubtnut.com/l/_LjwMgvvln4IE
https://dl.doubtnut.com/l/_JVzHnkwqJeJW
https://dl.doubtnut.com/l/_FqQnTp5lqpgv


180. Prove that 

Watch Video Solution

tan− 1
√x = cos − 1( ), x ∈ [0, 1]

1

2

1 − x

1 + x

181. Prove that : 

Watch Video Solution

cot − 1[ ] = , x ∈ (0, )
√1 + sin x + √1 − sin x

√1 + sin x + √1 − sin x

x

2

π

4

182. Prove that 

Watch Video Solution

tan− 1( ) = − cos − 1 x
√1 + x − (√1 − x)

√1 + x + (√1 − x)

π

4

1
2

183. Prove that 

− sin− 1( ) = si − 1( )
9π

8

9

4

1

3

9

4

2√2

3

https://dl.doubtnut.com/l/_FqQnTp5lqpgv
https://dl.doubtnut.com/l/_n6DEcvOmC1KU
https://dl.doubtnut.com/l/_k6DNSpXi1gQY
https://dl.doubtnut.com/l/_63rzoFvh7rIT
https://dl.doubtnut.com/l/_lZiG7Xw0l0WU


Watch Video Solution

184. Solve the .

Watch Video Solution

2 tan− 1(cos x) = tan− 1(2 cos ecx)

185. Solve the following equations: 

Watch Video Solution

tan− 1( ) = tan− 1 x, x > 0
1 − x

1 + x

1

2

186.  is equal to :

A. 

B. 

C. 

D. 

sin(tan− 1 x), |x| < 1

x

√1 − x2

1

√1 − x2

1

√1 + x2

x

√1 + X2

https://dl.doubtnut.com/l/_lZiG7Xw0l0WU
https://dl.doubtnut.com/l/_Sl6YCxxrdHT2
https://dl.doubtnut.com/l/_OyrnXCYfL4A7
https://dl.doubtnut.com/l/_C2skk9qBIk7c


Answer:

Watch Video Solution

187. If , then x is equal to :

A. 

B. 

C. 0

D. 

Answer:

Watch Video Solution

sin− 1(1 − x) − 2 sin− 1 x =
π

2

0,
1

2

1,
1

2

1

2

188.  is equal to :

A. 

tan− 1( ) − tan− 1( )
x

y

x − y

x + y

π

2

https://dl.doubtnut.com/l/_C2skk9qBIk7c
https://dl.doubtnut.com/l/_zjgTvRNdpKfC
https://dl.doubtnut.com/l/_vWWKmol2lKK1


B. 

C. 

D. 

Answer:

Watch Video Solution

π

3

π

4

−3π

4

189. Fill in the blanks: 

Domain of the function `sin^-1 x is ……..

Watch Video Solution

190. Range of function  is :

Watch Video Solution

cos − 1 x

191. The principal value of  is ............... .tan− 1 √3

https://dl.doubtnut.com/l/_vWWKmol2lKK1
https://dl.doubtnut.com/l/_doCSEmrYaTS6
https://dl.doubtnut.com/l/_iiUZRd13Sqld
https://dl.doubtnut.com/l/_cnrJPUiA9FnD


Watch Video Solution

192. Find the value of 

Watch Video Solution

sin− 1(sin(3 ))
π

5

193. Fill in the blanks: 

Principal value of the function  x lie in the interval……….

Watch Video Solution

tan− 1

194. Fill in the blanks: 

 is equal to ………..

Watch Video Solution

tan− 1 1 + sin− 1( − ) + cos − 1( − )
√3

2

√3

2

195. Principal value of `cos^-1 (-1/2) is :

https://dl.doubtnut.com/l/_cnrJPUiA9FnD
https://dl.doubtnut.com/l/_fhEk8r3LYLlK
https://dl.doubtnut.com/l/_y4PLTa7d21a4
https://dl.doubtnut.com/l/_Leh1Nn8dK0yA
https://dl.doubtnut.com/l/_hzNoc6ErKt12


Watch Video Solution

196. Fill in the blanks: 

The value of  is …………

Watch Video Solution

cos − 1(cos 14 )
π

3

197. Fill in the blanks: 

The set of values of  is ……………

Watch Video Solution

sec− 1( )
1

2

198. Fill in the blanks: 

For x  R,  is equal to ……………..

Watch Video Solution

∈ tan− 1(x2 + 1) + cot − 1(x2 + 1)

https://dl.doubtnut.com/l/_hzNoc6ErKt12
https://dl.doubtnut.com/l/_XQe4SiWeTpUv
https://dl.doubtnut.com/l/_WtS2euQIFC6f
https://dl.doubtnut.com/l/_rdzGiK0TspyF


199. Fill in the blanks: 

If , then the value of  is…………..

Watch Video Solution

cos − 1( − x) = α − cos − 1 x α

200. Fill in the blanks: 

For |x|  is equal to ……………

Watch Video Solution

≥ √2, sec− 1 √x2 − 1 + cos ec− 1√x2 − 1

201. Fill in the blanks: 

The value of , for all  in , in terms of   is……….

Watch Video Solution

cot − 1( − x) x R cot − 1 x

202. Fill in the blanks: 

If , then value of x is ………cos(tan− 1 x + cot − 1 √3) = 0

https://dl.doubtnut.com/l/_HEurXFFUCqpz
https://dl.doubtnut.com/l/_Vip76ffM1yP4
https://dl.doubtnut.com/l/_kMVsK1uU6W0d
https://dl.doubtnut.com/l/_wQHCKPFIhh8o


Watch Video Solution

203. The value of  is equal to :

Watch Video Solution

cos(sin− 1 x + cos − 1 x)

204. Fill in the blanks: 

The value of the expression , when 

is ………

Watch Video Solution

tan( ))
sin− 1 x + cos − 1 x

2
x =

√3

2

205. Fill in the blanks: 

 is equal to ………….

Watch Video Solution

tan− 1(tan( ))
4π

5

https://dl.doubtnut.com/l/_wQHCKPFIhh8o
https://dl.doubtnut.com/l/_08GclleAAxyt
https://dl.doubtnut.com/l/_OLAxPmkwWROB
https://dl.doubtnut.com/l/_LOvIy9JlOmWO


206. Fill in the blanks: 

 is equal to ………….

Watch Video Solution

tan− 1 √3 − sec− 1( − √2)

207. Fill in the blanks: 

If  for all x, then ………… …….

Watch Video Solution

y = 2 tan− 1 x + sin− 1( )
2x

1 + x2
≤ y ≤

208. Fill in the blanks: 

For  is equal to……….

Watch Video Solution

x2 > 1, sec(cos ec− 1x) + cos ec(sec− 1 x)

209. Find the value of 

Watch Video Solution

sin(2 tan− 1( )) + cos(tan− 1 √3)
2

3

https://dl.doubtnut.com/l/_tvtSECw6SBSD
https://dl.doubtnut.com/l/_v9EnlL09iAlR
https://dl.doubtnut.com/l/_2ZK00KYrL6Og
https://dl.doubtnut.com/l/_sdUdR9vTJlIc


210. True or False statements : 

Watch Video Solution

cos − 1{cos( } =
9π

8

7π

8

211. True or False statements : 

Watch Video Solution

cos − 1{ )} = −
cos(13π)

6

π

6

212. True or False statements : 

Watch Video Solution

sin− 1 √3 + cos − 1 √3 =
π

2

https://dl.doubtnut.com/l/_sdUdR9vTJlIc
https://dl.doubtnut.com/l/_k2B2vQddm129
https://dl.doubtnut.com/l/_O1oUD0j5biBs
https://dl.doubtnut.com/l/_VdGwbQPA4uEP


213. True or False statements : 

Watch Video Solution

sec− 1( ) + cos ec− 1( ) =
1

√3

1

√3

π

2

214. True or False statements : 

Watch Video Solution

tan− 1 2 + tan− 1 3 = −
π

4

215. True or False statements : 

Watch Video Solution

cos ec− 1(cos ec )) =
9π

10

π

10

216. The value of the expressions  is equal to .

Watch Video Solution

(cos − 1 x)
2

sec2 x

https://dl.doubtnut.com/l/_Ftkpxigdzf7M
https://dl.doubtnut.com/l/_CGetfzrPJcbQ
https://dl.doubtnut.com/l/_8A00fKyB9pZu
https://dl.doubtnut.com/l/_CXoZNuYnpyW5


217. All trigonometric functions have inverse over their respective

domains.

Watch Video Solution

218. Prove that 

Watch Video Solution

tan(sin− 1 x) = ( ), 1x1 < 1
x

√1 − x2

219. True or False statements : 

 for |x|  1

Watch Video Solution

cot(cos − 1 x) =
x

√1 − x2
≤

https://dl.doubtnut.com/l/_CXoZNuYnpyW5
https://dl.doubtnut.com/l/_fxu9Jx6ztzWq
https://dl.doubtnut.com/l/_YgfCxrIO8jMV
https://dl.doubtnut.com/l/_z13735t2uxTr


220. True or False statements : 

 for 0 < x  1.

Watch Video Solution

sin− 1
√x + sec− 1( ) =

1

√x

π

2
≤

221. The minimum value of n for which , is valid is

5.

Watch Video Solution

tan− 1 < , n ∈ N
n

π

π

4

222. The domain of trigonometric functions can be restricted to any one

of their branch (not necessarily principal value) in order to obtain their

inverse functions.

Watch Video Solution

https://dl.doubtnut.com/l/_MfDP7rTlFo1J
https://dl.doubtnut.com/l/_50r7a7NKO7nK
https://dl.doubtnut.com/l/_yQ0uCvieiBY3


223. The least numerical value, either positive or negative of angle  is

called principal value of the inverse trigonometric function.

Watch Video Solution

θ

224. The graph of y = 6 is a line

Watch Video Solution

225. The principal value of .

Watch Video Solution

sin− 1[cos(sin− 1 )]  is 
1

2

π

3

226. The graph of inverse trigonometric function can be obtained from

the graph of their corresponding trigonometric function by

interchanging x and y axes.

Watch Video Solution

https://dl.doubtnut.com/l/_AcLiJ6J6hLRM
https://dl.doubtnut.com/l/_SSVXCJa2yYPl
https://dl.doubtnut.com/l/_VliG06L2nSdR
https://dl.doubtnut.com/l/_4WApRrNjQzED


227. 

Watch Video Solution

tan 1 > tan− 1 1

228. Match the following 

Watch Video Solution

229.  if y lies in the interval

A. 

sin− 1(sin y) = y

(0, π)

https://dl.doubtnut.com/l/_4WApRrNjQzED
https://dl.doubtnut.com/l/_HTGncXFRj6xH
https://dl.doubtnut.com/l/_rlTlixmjCyuN
https://dl.doubtnut.com/l/_LrWpzZ9DROGl


B. 

C. 

D. none of these

Answer:

Watch Video Solution

( − , )
π

2

π

2

−π, π

230.  is equal to

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

cos − 1( )
√3

2

π

3

π

6

π

4

https://dl.doubtnut.com/l/_LrWpzZ9DROGl
https://dl.doubtnut.com/l/_UqiMPy3CIDLJ


231. Domain of the function  is equal to :

A. 0,1

B. R

C. 

D. none of these

Answer:

Watch Video Solution

f(x) = sin− 1 x

−1, 1

232. Domain of the function  is equal to :

A. 

B. 

C. 

D. 

f(x) = tan− 1 x

(0, )
π

2

(0, )
π

2

( − , 0)
π

2

( − , )
π

2

π

2

https://dl.doubtnut.com/l/_yRF9OzLmcks1
https://dl.doubtnut.com/l/_TCsYytsgHoLm


Answer:

Watch Video Solution

233. Which of the following is the principal value branch of  ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cos − 1 x

[ − , ]
π

2

π

2

(0, π)

(0, π)

(0, π) − { }
π

2

234. Which of the following is the principal value branch of  ?

A. 

cos ec− 1x

( − , )
π

2

π

2

https://dl.doubtnut.com/l/_TCsYytsgHoLm
https://dl.doubtnut.com/l/_4Gv3JNKxShso
https://dl.doubtnut.com/l/_XcZq2GeGPMP1


B. 

C. 

D. 

Answer:

Watch Video Solution

(0, π) − ( )
π

2

( − , )
π

2

π

2

( − , ) − (0)
π

2

π

2

235.  is equal to 

A. 1

B. 

C. 0

D. none of these

Answer:

Watch Video Solution

sin(sin− 1 x + cos − 1 x) ( − 1 ≤ x ≤ 1)

π

2

https://dl.doubtnut.com/l/_XcZq2GeGPMP1
https://dl.doubtnut.com/l/_IIJVQlG2ERij
https://dl.doubtnut.com/l/_YrQaJg1gziRt


236. If , then x equals

A. 0

B. 1

C. -1

D. 

Answer:

Watch Video Solution

3 tan− 1 x + cot − 1 x = π

1

2

237. The value of  is

A. 

B. 

C. 

D. 

sin− 1(cos( ))
33π

5

3π

5

−
7π

5

π

10

−
π

10

https://dl.doubtnut.com/l/_YrQaJg1gziRt
https://dl.doubtnut.com/l/_YjlVtPG8um8R


Answer:

Watch Video Solution

238.  holds true for

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

sec− 1 x = cos − 1( )
1

x

|x| ≤ 1

−1 ≤ x ≤ 0

0 ≤ x ≤

239. If  for all x  S, then find the set S.

A. 

cot − 1 x = tan− 1( )
1

x
∈

x ≠ 0

https://dl.doubtnut.com/l/_YjlVtPG8um8R
https://dl.doubtnut.com/l/_2qUtnkdmPhcb
https://dl.doubtnut.com/l/_imeYQP2J1iPn


B. x lt 0

C. 

D. x gt 0

Answer:

Watch Video Solution

|x| ≤ 1

240. The domain of the function  is

A. (0,1)

B. (-1,1)

C. [-1,1]

D. 

Answer:

Watch Video Solution

cos − 1(2x − 1)

(0, π)

https://dl.doubtnut.com/l/_imeYQP2J1iPn
https://dl.doubtnut.com/l/_64HrkTj5lT3e
https://dl.doubtnut.com/l/_ycl04JEv0w1G


241. The domain of the function defined by  is

A. [1,2]

B. [-1,1]

C. [0,1]

D. none of these

Answer:

Watch Video Solution

f(x) = sin− 1 √x − 1

242. If , then x is equal to

A. 

B. 

C. 0

D. 1

cos(sin− 1( ) + cos − 1 x) = 0
2

5

1

5

2

5

https://dl.doubtnut.com/l/_ycl04JEv0w1G
https://dl.doubtnut.com/l/_rsYfIbnS7a4Q


Answer:

Watch Video Solution

243. The value of  is equal to

A. 0.96

B. 0.75

C. 1.5

D. sin 1.5

Answer:

Watch Video Solution

sin(2 tan− 1(.75))

244. The value of  is equal to

A. 

cos − 1(cos )
3π

2

3π

2

https://dl.doubtnut.com/l/_rsYfIbnS7a4Q
https://dl.doubtnut.com/l/_WELtcVpQmPB2
https://dl.doubtnut.com/l/_Jaii8mn1lNXi


B. 

C. 

D. 

Answer:

Watch Video Solution

π

2

5π

2

7π

2

245. The value of expression  is

A. 

B. 

C. 

D. 1

Answer:

Watch Video Solution

2 sec− 1 2 + sin− 1( )
1

2

7π

6

π

2

5π

6

https://dl.doubtnut.com/l/_Jaii8mn1lNXi
https://dl.doubtnut.com/l/_gYYL7wkq8XJE
https://dl.doubtnut.com/l/_xGtcIK7esR17


246. If , then  equals

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

tan− 1 x + tan− 1 y =
4π

5
cot − 1 x + cot − 1 y

π

π

5

2π

5

3π

5

247. The value of  is

A. 

B. 

C. 

D. 

cot[cos − 1( )]
7

25

25

24

24

25

7
24

25

7

https://dl.doubtnut.com/l/_xGtcIK7esR17
https://dl.doubtnut.com/l/_KtnsQp1ag1iS


Answer:

Watch Video Solution

248.  holds true for

A. |x| lt 1

B. 

C. 

D. none of these

Answer:

Watch Video Solution

sec− 1 x = cos − 1( )
1

x

|x| ≤ 1

|x| ≥ 1

249. If , then  is equal to

A. 0

|x| ≤ 1 2 tan− 1 x + sin− 1( )
2x

1 + x2

https://dl.doubtnut.com/l/_KtnsQp1ag1iS
https://dl.doubtnut.com/l/_YDjDk8gPdnr5
https://dl.doubtnut.com/l/_b9UAliV2D2M8


B. 

C. 

D. .

Answer:

Watch Video Solution

π

2

π

4 tan− 1 x

250. If , then 

 equals

A. 6

B. 0

C. 1

D. 12

Answer:

Watch Video Solution

cos − 1 α + cos − 1 β + cos − 1 γ = 3π

α(β + γ) + β(γ + α) + γ(α + β)

https://dl.doubtnut.com/l/_b9UAliV2D2M8
https://dl.doubtnut.com/l/_cvMh6Uo3U2gY


251.  is valid for

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

sin− 1(cos x) = − x
π

2

−π ≤ x ≤ 0

0 ≤ x ≤ π

− ≤ x ≤
π

2

π

2

252. The number of real solutions of the equation

 in [pi/2, pi)` is

A. 0

B. 1

C. 2

√1 + cos 2x = √2 cos − 1

https://dl.doubtnut.com/l/_cvMh6Uo3U2gY
https://dl.doubtnut.com/l/_LoiYB5QFHz98
https://dl.doubtnut.com/l/_nXZI3hgCWisI


D. infinite

Answer:

Watch Video Solution

253. If  then

A. 

B. 

C. x gt 0

D. 

Answer:

Watch Video Solution

cos − 1 x > sin− 1 x,

0 ≤ x <
1

√2

−1 ≤ x <
1

√2

< x ≤ 1
1

√2

254. Find the values of tan2(sec− 1 2) + cot2(cos ec− 13)

https://dl.doubtnut.com/l/_nXZI3hgCWisI
https://dl.doubtnut.com/l/_q9cv2PieUKzI
https://dl.doubtnut.com/l/_wIPFKMZDjPIx


A. 5

B. 13

C. 11

D. 15

Answer:

Watch Video Solution

255. If , then

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

α ≤ 2 sin− 1 x + cos − 1 x ≤ β

α = − , β =
π

2

π

2

α = 0, β = π

α − , β =
π

2

3π

2

α = 0, β = 2π

https://dl.doubtnut.com/l/_wIPFKMZDjPIx
https://dl.doubtnut.com/l/_EcASU83ZIp9z


256. Find the solution of the equation:

A. a unique solution

B. no solution

C. two solutions

D. infinitely many solutions.

Answer:

Watch Video Solution

tan− 1 x − cot − 1 x = tan− 1( )
1

√3

257. ).

A. all x, y  R

B. |x|, gt 1, |y|, lt1

tan− 1 x + tan− 1 y = tan− 1(
x + y

1 − xy

∈

https://dl.doubtnut.com/l/_EcASU83ZIp9z
https://dl.doubtnut.com/l/_QczMrWPiwNgZ
https://dl.doubtnut.com/l/_vn337fEIAOt9


C. |x| gt 1, |y| gt 1

D. xy gt -1

Answer:

Watch Video Solution

258. The value of the expression  is

A. 0

B. 1

C. 

D. 

Answer:

Watch Video Solution

sin[cot − 1(cos(tan− 1 1))]

√
2

3

1

√3

https://dl.doubtnut.com/l/_vn337fEIAOt9
https://dl.doubtnut.com/l/_ceSvYhVHGoG2


259. If , then value of y

A. 0

B. 

C. 

D. 

Answer:

Watch Video Solution

sin− 1 x + sin− 1 y =
π

2
cos − 1 x + cos − 1

π

2

π

2π

2

260. The value of  is

A. 0.48

B. 1.2

C. 0.96

D. sin 1.2

sin(2 sin− 1(.6))

https://dl.doubtnut.com/l/_8lVoFKpLFOV7
https://dl.doubtnut.com/l/_qebxFpOoQuFP


Answer:

Watch Video Solution

261. The domain of the function  is

A. [-1,1]

B. 

C. 

D. { }

Answer:

Watch Video Solution

sin− 1 x + cos x

( − ∞, ∞)

[ − 1, π + 1]

262.  =

A. 0

tan− 1 1 + tan− 1 2 + tan− 1 3

https://dl.doubtnut.com/l/_qebxFpOoQuFP
https://dl.doubtnut.com/l/_mykUW9gqCh7Z
https://dl.doubtnut.com/l/_W17cOK8gZqgE


B. 

C. 

D. none of these

Answer:

Watch Video Solution

π

π

2

263. The domain of  is

A. [3.5]

B. 

C. 

D. 

Answer:

Watch Video Solution

y = cos − 1(x2 − 4)

[0, π]

[ − √5, − √| ∩ | − √5, √3]

[ − √5, − √3] ∪ [√3, √5]

https://dl.doubtnut.com/l/_W17cOK8gZqgE
https://dl.doubtnut.com/l/_sDAnr5nXQJ7T
https://dl.doubtnut.com/l/_ugyF0K1uJney


264. The domain of the function  is

A. [0,1]

B. [-1,1]

C. (0,1)

D. 

Answer:

Watch Video Solution

y = sin− 1( − x2)

ϕ

265. Let , then value of  is

A. 

B. 

C. 

D. 

θ = (sin− 1 sin( − 600∘ )) θ

π

3

π

2

2π

3

−
2π

3

https://dl.doubtnut.com/l/_ugyF0K1uJney
https://dl.doubtnut.com/l/_MbJLGkemXeV0


Answer:

Watch Video Solution

266. If  for some x  R, them the value of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

tan− 1 x =
π

10
∈ cot − 1 x

π

5

2π

5

3π

5

4π

5

267. The value of  is

A. 

cot(sin− 1 x)

√1 − x2

x

https://dl.doubtnut.com/l/_MbJLGkemXeV0
https://dl.doubtnut.com/l/_XqXhoy0yZ1N6
https://dl.doubtnut.com/l/_5vQMgQeGLphP


B. 

C. 

D. 

Answer:

Watch Video Solution

1

x

x

√1 + x2

√1 + X2

x

268. The domain of  is

A. [0,1]

B. [-1,1]

C. [-2,2]

D. 

Answer:

Watch Video Solution

sin− 1 2x

[ − , ]
1

2

1

2

https://dl.doubtnut.com/l/_5vQMgQeGLphP
https://dl.doubtnut.com/l/_s7m5S3saCJKe
https://dl.doubtnut.com/l/_fZWLvMXVDiyP


269. Domain of the function  is

A. (-2,1)

B. [-2,1]

C. (-2,0)

D. [-1,1]

Answer:

Watch Video Solution

sin− 1( )
2x + 1

3

270. The principal value of the expression  is

A. 

B. 

C. 

D. 

cos − 1[cos( − 680∘ )]

π

9

2π

9

−
2π

9

34π

9

https://dl.doubtnut.com/l/_fZWLvMXVDiyP
https://dl.doubtnut.com/l/_wf89rQCtKqa3


Answer:

Watch Video Solution

271. The principal value branch of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

sec− 1

[ − , ] − {0}
π

2

π

2

[0, π] − { }
π

2

(0, π)

( − , )
π

2

π

2

272. One branch of  other than the principal value branch

corresponds to

cos − 1

https://dl.doubtnut.com/l/_wf89rQCtKqa3
https://dl.doubtnut.com/l/_3gpeYCSzcFoj
https://dl.doubtnut.com/l/_mXZQz5rhnDCP


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

[ , ]
π

2

3π

2

[π, 2π] − {3 }
π

2

(0, π)

[2π, 3π]

273. If , where

a, x  (0,1)`, then the value of x is

A. 0

B. 

C. a

D. 

Answer:

sin− 1(2 ) + cos − 1( ) = tan− 1( )
a

1 + a2

1 − a2

1 + a2

2x

1 − x2

∈

a

2

2
a

1 − a2

https://dl.doubtnut.com/l/_mXZQz5rhnDCP
https://dl.doubtnut.com/l/_SQbIrTf7N3Kc


Watch Video Solution

274.  is equal to :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

tan− 1 √3 − sec− 1( − 2)

−
π

3

π

π

3

2π

3

275.  is equal to

A. 

B. 

sin( − sin− 1( − ))
π

3

1

2

1

2

1

3

https://dl.doubtnut.com/l/_SQbIrTf7N3Kc
https://dl.doubtnut.com/l/_bPDPayFZnBYh
https://dl.doubtnut.com/l/_hsxcrYJ4ne1j


C. 

D. 1

Answer:

Watch Video Solution

1

4

276.  is equal to :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

sin(tan− 1 x), |x| < 1

x

√1 − x2

1

√1 − x2

1

√1 + x2

x

√1 + X2

https://dl.doubtnut.com/l/_hsxcrYJ4ne1j
https://dl.doubtnut.com/l/_3CdLnS6C3lUi


277.  is equal to

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

sin− 1( ) + sin− 1( )
4
5

5

13

sin− 1( )
16

65

−sin− 1( )
16

65

cos − 1( )
16

65

278.  is equal to :

A. 

B. 0

C. 

D. 

tan− 1(√3) − cot − 1( − √3)

π

6

7π

6

2√3

https://dl.doubtnut.com/l/_wNSZZQeJvTjd
https://dl.doubtnut.com/l/_iYrUwQF8Qt8H


Answer:

Watch Video Solution

279. If , then

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

y = sin− 1 x

0 ≤ y ≤ π

− ≤ y ≤
π

2

π

2

0 < y < π

− ≤ y <
π

2

π

2

https://dl.doubtnut.com/l/_iYrUwQF8Qt8H
https://dl.doubtnut.com/l/_59AIqdCsQNU1

